(a) baseline

0.050 Turb. entrainment, bot. (d@urb, pt/3X)
c Turb. entrainment, top (8@ turp, tp/3X)
‘© Turb. entrainment, right (8¢¢urb, rg/0X)
o mmm Turb. entrainment, left (3¢, /0x)
0.000 [ Mean convection, bot. (3@ mean, bt/9X)
“ Imm  Mean convection, top (3@ mean, tp/9X)
3 B Mean convection, right (8¢ mean, rg/3X)
- —0.050 EE Mean convection, left (3@mean, 1#0X)
I Production (aP/ax)
B Pressure work (9W,/ox)
O © © © © © ©o o o o -
4 N M < 1 © ~ o o o —— Available power (3AP;,/ox)
—
xD™1[-]
0.050
C
‘©
(O]
0.000
7]
(2]
o
-
—-0.050
e @ @ @ 9 e @ o o @9
A N M & 10N VU N © o o
—
xD71[-]
(c) active wake mixing
(i) pulse (ii) ccw helix
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